Time Allowed - 3 Hours. Model Question Paper, 2021
Set- 11

Subject- ACT
Class - XII'™ (I.Com)

Full Marks- 80

sglamedi ueear Objective questions : 1x20=20
. ATIETR JIH delTell 8 -

a) arferarf b) Eikeh

¢) 3fera: atferart d) 3fora: Twhew

Preparation of Partnership deed is :

a) Compulsory b) Voluntary

c¢) Partially Compulsory d) Partially Voluntary

2. UeldcHidsel U EldTall clTai/&lfel 37gurd HA diel Sfdar & -
a) S cATeT-BTeT 3TFUTd H  b) GRIet 3igara &

) =TT 3TuTd H d)uiita sigura &
Profit and loss on Revaluation is distributed in the ratio of :
a) New Profit and loss ratio b) Old Profit and loss ratio
¢) Sacrificing ratio d) Gaining ratio

3. SRUTUSIETS hUel & ald &
a) =TT b) SeTE=®
c) eeerR d) JAzers
Debenture holders are of the Company :
a) Owner b) creditors
c¢) Debtors d) Guardian

4. fafsrse arer 2 -

a) gsilora uriea b) 3T=reTad Uit
c) U HFIUTA d)ygerd A dIg gt
Specific donation is
a) Capital Receipts b) Revenue Receipts
¢) An Asset d) None of these
5. 3cd == @ e Smar @
a) 3T 3NT =T FATAT A b)uiitd ©d sforarer mar H
c) Ahps JATAT H d)SeTd J BIs =TEl

Outstanding expenses is recorded in :

a) In Income and Expenditure Atc b) In Receipts an Payments Atc
¢) In cash A/c d) None of these



6.

10.

forger =mal & A A URidteh 9w & Jrer fo=m o JAhdr & ?

a) 3T T I HTAT b) uTitd ©d  afordrel JTdT
c) cTeT—alter JTaTr d) et I Jaft

Which Account can be written with opening balance?

a) Income and Expenditure A/c b) Receipts and Payments Atc
¢) Profit and Loss A/c d) All of these

II—TT JTAT AHTSITAT fe=dar 2

a) & T /&TfeT b) ABcT AT /ETTeT

¢) ot &Iy d)saTd A HIs &8l

Income and Expenditure Account generally shows :

a) Net Profit/Loss b) Gross Profit/Loss

c¢) Capital Fund d) None of these

TUh ATHAT AT A ATSE=Rl bl 3iferbdar AT & Adhdl o:
a)1o0 b) 20

c) 2 d) 50

In ordinary Partnership Maximum Number of Partners can be:
a) 10 b) 20
c)2 d) 50

User dter auf & a7 I 9,000, T 13,000 derr I 8,000 & | =TTy BT I
NAT AT B 2 auf b hIT UT S :

a) ¥ 81,000 b) T 20,000
¢) T 27,000 d) T 18,000

Profit of last three years were I 9,000, ¥ 13,000 and I 8,000 The value of goodwill at 2
years purchase of average profit will be:

a) < 81,000 b) < 20,000

¢) < 27,000 d) X 18,000

uiiRa 3rgura 2 -

a) STIT  3TFUTA—GRTelT 3gura b) GRIeT 3TgUTd—<rAT 3igfurd
¢) ITOT  ITgUTA—<TT  3Turd d)sadH A PHIs <T@t

Gaining Ratio is :

a) New Ratio-old Ratio b) Old Ratio-New Ratio
c¢) Sacrificing Ratio-New Ratio d) None of these



11.

12.

13.

14.

15.

HUsit A=A 2013 & IFAR, A Huell & 3R Reer @r
ugd TR SieT 3TTaesdh &t

a) &fasr u b) cia®»U/SHeaterz H»a
c)ar ar Afder = Feater »u d)STd A PSSl

As Per Companies Act, 2013 the Balance sheet of Company is required to be Presented
in:

a) Horizontal Form b) Vertical Form
¢) Either Horizontal or vertical Form d) None of these

g 3afer & PHol Th Hdell b 3P Ko & ofid & sz R’me

I

a) ITey, At b) ey, T TRIa

¢) A—are], eThrea d)SeTH A HIs =&l

Short term Borrowings appear in a Company’s Balance sheet under the Head:
a) Current Assets b) Current Liabilities

¢) Non-Current Liabilities d) None of these

sifeiRad eI &l o ST ST & geldiclichel JTd & :

a) ST uel & b) STAT TeT H
C)BIS AHT TEl d)gaTd A HIS A&l
Unrecorded Liability will be taken into Revaluation Atc.

a) In Debit Side b) In Credit Side

c) No entry d) None of these
Abs dUdle faazor d=ume fpam orar @

a) 3Mfaiep T=rar b) cATeT—&TeT  JWATAT
¢) 3tfaiReaa IJ@ed d) 3udaa et
Cash Flow statement is prepared from?

a) Balance Sheet b) Profit & Loss A/C
¢) Additional Informations d) All of these

3meel dvar 3rgua @

The ideal liquid ratio is :

a) 2:1 b) 1:1
c) 5:1 d) 4:1



16.

17.

18.

19.

20.

21.

22.

23.

a) 3Tfefep T=rar b) 3m=r fera=or

¢) uf3daTetel &meT d) ferfer=ror
Statement of profit and Loss is also called?

a) Balance Sheet b) Income Statement
¢) Operating Profit d) Investment

SRUTOSIT U2 &ITol bl €3 ardr 2 |

Rate of Interest on Debenture is :

a) 12% P.a b) 20% P.a

¢) Fixed Rate (GifsTa a3) d) 15% P.a

U BFTel BT ..o grar &1

a) gerds Yol JTd b) z=m=it Sitasr

c) Afera e d) Ui/ afY

A Company has ...............

a) Separate Legal Entity b) Perpetual Existence
c¢) Limited Liability d) All of these

A,B3T C1/2:1/3:1/6a 3igurd & o1 dicd &1 C 3Tawhrel J&ul FHal

21 wiiRg 3rgura e -
a) 2:1 b) 2:3
C) 3:2 d) 1:2

A, B and C share the profit in Ratio 1/2 : 1/3 : 1/6. C retire than gaining Ratio is :

a)2:1 b) 2:3

C) 3:2 d) 1:2

Yol cdidsel JATAT ............ & FAATST BT B |

a) GITeT—&TfeT  JAATNGIeT  JATAT b) STeT—&TTel  JTAT
c) arelt d) a3gett mar

Revaluation Account is alike to a :
a) Profit and Loss Adjustment Account b) Profit and Loss A/C

¢) Both d) Realization A/C
Rer zemrer &3 Fill in the blanks :- 1x12=12
ATDSTS TTATT H ATISTE BT SR ... BT 21
In partnership the liabilities of the partneriis .............
ATENMROTAAT SROTAST .......... B &1

Ordinarily debentures are ..................
SRUTUST & oNelad bl 31ef B, hUel R RUTTS bl AT Bl ...........

Redemption of debentures means ............ of the amount of debentures by the

Company.



24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

ATy, 3guTd & feTu smeel s ... EX

Ideal ration for current ratiois ..............

AR hI TTel, JATAT Il AU, Sd YOIl oo, &l
Current Account of Partner should be opened, when capitals are ..............
Uit o2 =l BH B AT .. EX
For the firm, interest on capital is .............
3T =TUIRes A3t & 3iferepior de—aa .......... I B
Most transactions in non-trading concerns are in
anffes RIes & a=&F &1 BT ... BET ST B |
Right side of Balance sheet is called ..................
HABT ATH 3UTd = ............ x 100
ufRaretel A 3T
Gross profit Ratio=............ x 100

Revenue from operation

BT Torehl = sldbe Tarehl + o.vwen.nn.

S

Total Sales = cash sales + ...........
BT P AN AMAB ......... &1
......... are the real owner of the Company
TUdh BUeH ............ ST g7 SIar 8 |
A Company is created by ..................

aifer org 3T wesr Very Short Answer Type questions:- 2x8=16

TecT =T B ?

What is Subscription ?

3Moiiael AeTdT QJods o=T & ?

What is life Membership fee?

HATSSTST B ST 3MadeAb dod IdTd |

List any two essential elements or features of Partnership.

X, Y,Od ZARDST &1 Sf 4: 3: 2 H ATH-a&MT dled &1 319 sfasy &
3cglel WRIEAT cTH-&Ifer dfcel H1 fereasr T | Iatasr =meT a1 et
31eUTd STd ehITSTU |

X,Y, and Z are Partners sharing profit and losses 4:3:2 Now they decided to share profit
equally in future. Calculate their Sacrificing or Gaming Ratio.

ATHATST AT BT ATSER— b g [aazor & v oeta ufafie difse
Give the journal entry to distribute general reserves among partners.

3ieT &OT JTAT o=IT B ?

What is forfeited share Account?

SRUTTSl <RIT & ?

What is debentures?

JAebs Udars faavor i duR har Sirar @ ?

What is the objective of preparing cash flow statement ?




41.

42.

43.

44.

45.

g 3T ues Short Answer Type questions :- 4x4=16

Uiitd Ud oTdlel ST daT M- JTdl # his dR 3ide Idrd |
State any four differences between Receipts and Payments Accounts and Income and
Expenditure Atc.

()X 3N YARDER & oY 7:3 & 3(gurd A o1 fJeireiead 2 &1 Z &Y
gder fEom Smar &1 Swm ARP@ER 39en 1/10 Far gola: X JFoura
HAT B

(i) A 3R BIARDER & S 3:2 & 3iguld A o7 BT [JaTetel B &1
Cor /5783 & U uder 3a € off 98 B Urd &Hdar & |
SATH-TIATSIE BT o= 3TguTd TSTBITC |

(1) X and Y are Partners sharing profits in the ratio 7:3 was admitted. The new Partner
acquires his 1/10™ share entirely from X.

(i1)) A and B are Partners sharing profits in the ratio of 3:2. They admitted C for /5"
share which he acquires from B.

Calculate new profit sharing Ratio.

X, Y 3R Zdla AEer & o ari-a sifer dr 2: 2: 1 P IAgurd H
fIanfoiad e2ad 21 Y 31aehrel I&ur hdl & 3T BA bt =fd Rs. 60,000
UT Fcifhd @I Gl &1 WA B gIddl H dhig JAMMd JMdar Ueidia
gl B Tmfa & fau 3raeus oo ulaftewt SHifsiel o9 Ssice
HATGTH 26 & IFAR JANT  JTAT DI ARERT & Yot JMd H
FATNTSIT T Siar &

X, Y & Z are three partners sharing profits & losses in the ratio of 2: 2: 1. Y retires &

goodwill of the firm is valued at Rs. 60,000. No goodwill Account appears in the books
of the firm. Pass necessary Journal entries for good will. When goodwill A/C is adjusted
through partners Capital Account  (AS-26)
aief, FUTd 2.5 &1 wriefier ot Rs. 60,000 21 aTef, JAufer=il dem dref,
TRl @t AR ST HIfSw |
Current ratio is 2.5, working Capital is Rs-60,000 Calculate the amount of current Assets
and current liabilities.

&t 3T uest Long Answer Type questions:- 8x2=16
X fe1. o Rs. 100 @tet 10,000 3ieT 10% WAz ur feeifda feu i afer
foTdet Uhe < oft
(X 1td Issue 10,000 shares of Rs. 100 each at a premium of 10% Amount was payable as
follows:)
3fdesl uT On Application Rs. 30 ufer 9r=12 (Per share)
3faesl U<z On Allotment Rs. 40 ufay o=z (hfdar afga)

(Per share including premium)

JraeT gz On Calls Rs. 40 ufer =1 (Per share)
Haft 3ol Bt farebr & o8 TUd 200 3i9f bl Bigsh Tolauz 3face T
ATTAT BF APDT UTed Tél Jhl, AW 3felf uz IAFHAAT AT ured & o9rs |
200 3ielf P HUsl B JAATeIh! FRT &I0T BT TTAT 91T |



46.

HUST B GIddhi H AUSEHAT BI 3aedshs ufditeai oo |

All the shares were subscribed for and installments received on due date with the

exceptions of allotment and calls on 200 shares. Which were forfeited by the directors of

the company. Give journal entries in the books of the company.

Statement of Financial Position of Mr. X are given below:

Additional Intormations :-
i) s 3MM&3urT =&l 2 (Thre were no drawings)
i) oTaer =7 o=t Jufast &1 BIs B aJr faeew @ e

There was no purchase or sale of either building or fixed assets.

Jeretel T3l ERT ks UdTE bl II0TaT dHioTy

Calculate cash flow from operating Activities.

iR 1.4.2019 | 31.03.2020 | Fufer=it Assets 1.4.2009 | 31.3.2020
Liabilities
doit Capital | 7,39,000 | 6,15,000 3Td<l Building 1,00,000 | 80,000
TRt JAufa=It
Fined Assets 6.00,000 | 5,00,000
T JTT 29,000 | 25,000 eieTz Debtors 20,000 | 17,000
Accounts zafar=m Stock 8,000 | 13,000
Payable Cash J<hs 40,000 30,000
768,000 | 6,40,000 7,638,000 | 6,40,000
CINIESSEE CEllel




Model- Question Paper

Time- Allowed : 3 Hours

2021

Subject- BMT

Class — XII'™
SET-11

Objective type question

Full Marks- 100

(axgferss uee)
Choose the Correct Answer : 1x30=30
HFE ITT goi |
1. Which is the 27™ term of the sequence 5, 14,23 ............... ?
1) 239 2) 100
3) 101 4) 900
3TIBH 5,14,23 .ceenen. BT 27di Ue foa<titchad & i 2 2
1) 239 2) 100
3) 101 4) 900
'
2. The Value of %
1) 48 2) 56
3) 64 4) None of these
'
( % BT AT 2 1)
1) 48 2) 56
3) 64 4)STH A PIs Tl
3. Two sets are disjoint if and only if
1) ANB=g 2) ANB#9
3) A-B=¢ 4) A-B=B
3l IS 3REgHT Bld & e 3T daar afe
1) ANB=g 2) ANB#9
3) A-B=¢ 4) A-B=B
4. The 10" term of the G.P 24,12,6 .cooovveniia... 18
1 3
1) — 2) —
) 64 )64
5 7
3) — 4) —
) 64 ) 64
AUTAT FE 24, 12, 6 ceveeeeeeenenen. &1 10df US B |
1 3
1) — 2) —
) 64 )64
5 7
3) — 4) —
) 64 ) 64



5. How many terms are there in A.P 1,3,5,7 ............... 99

1) 40 2) 30

3) 50 4) 45

HAATAT A 1,3, 5,7 oo 99 & fhaa ue 2

1) 40 2) 30

3) 50 4) 45

6. e 1 1 )

The sum of infinite terms of G.P 1+E + ? F oo 18
5

14 2) =

) )2

3

3) = 4) 2

)2 )

JAATAT A 1+%+2L2+ ........... P 3feled UST bl AloT & —
5

14 2) =

) )2

3
3) = 4) 2
)2 )

7. Insert two arithmetic means between 68 & 260

1) 132, 196 2) 130, 194

3) 70, 258 4) None of the above

68 TUd 260 @& oI & JAHTedT HTEAT bl HT felpral
1)132, 196 2) 130, 194

3) 70, 258 4)STH A PHIs Tl

8. np .1s equal to

|

nn—r)! (r—n)!

1y

n!

3) (n—r)!

4) none of these

npzq-mc—:rzﬁ?m
r

|
n 2) n.

nn—r)! (r—n)!

3) " R e

(n—7)!




10.

11.

12.

13.

If A is a set of the letters of the word ‘eat’ then which one is correct ?

1) ee A 2) Aea
3) te A 4) ate A
afe orsg ‘eat’ B 37T BT A= AT o oo F B J&r B 2
1) ee A 2) Aea
3) te A 4) ate A

If A:E 4}, B:F ﬂ then A+B will be

2 5 3 3
vl S 2[4

-5 2 5 6
o5 i
?Ti:crA{2 4},3{3 ﬂaa A+B 8o -

6 5
2 5 3 3
1) 2)
6 5 4 5
-5 2 5 6
3) 4)
3 2 17
If the number of rows of a matrix is greater than the number of columns then the matrix

1s called as

1) a row matrix 2) a column matrix
3) a rectangular matrix 4) a square matrix

IJfe et Al & digal o J==m deii & J==m J 31feres 2 ar
AfcrT b1 ... el SIdT 2 |

1) Th ulh ATt 2) TPk hiadHd AfcRT

3) Tk IMAdTBIR AT 4) TP Iof AferT

The 10" term of A.P 10, 5,0, -5, -101s ..

1) 30 2) 35

3)-35 4) 25

AP10,5,0,-5-10hT 10daf e & —

1) 30 2) 35
3) 35 4) 25

If p" term is q and q" term is p of an A.P then its 1™ term is

1) p+q+r 2)p-q-r
3p+q-r1 Hp-q+r



14.

15.

16.

17.

afe it AP@sT paf ue qdem qaf ug p& af SAGT rdl U & —

1) p+q+r 2)p-q-r
3p+q-r1 Hp-q+r
The value of 10 p 18

2
1) 100 2) 90
3)70 4) 80
10, @1 #A 8

2

1) 100 2) 90
3)70 4) 80

If n P, = 360 then the value of n will be

1) -5 2) -6
3) 6 4) none of these
i np4 = 360 df n BT HAA B
1) -5 2) -6
3) 6 4) none of these
If n. n then n is
CIO_ C4
1) 10 2)4
3) 14 4) 20
afe n. _n., dIn?
Co= ¢4
1) 10 2)4
3) 14 4) 20
1 31
The value of determinant |2 5 4] is
6 15

1) 35 2)45
3) 56 4) 64

1 31
AROIB |2 5 4| BT AT & —

6 15
1) 35 2) 45 3) 56

4) 64



18.

If A= F 2} then A’ is
3 1

?J%A:E ﬂ ar A’?

ofa 1

s ]

11 303
o ok
19. LetA=1{2,3,4},B={3,4} C={4,5,6} then AUBNC) is

{3} 2) {4}
3){2,3,4} 4) None of these

FTET T A=1{2,3,4},B={3,4) C=1{4,5,6}ad AUBNC)E -

D {3} 2){4}
3){2,3,4} 4)STH A PHIs Tl
20. If A={a,b,c,d}, B={b,d,e, f} then the value of ANB is -
1){a,b,c,d, f} 2){b,d}
3) {c.d, e} 4){c de}

21.

22.

af¢ A={ab,c,d}, B={b,d,e,f} @ ANB &1 AT &rom

1){a,b,c,d, f}

3) {c,d, e}

If Y=x-2x* then @ is
dx

1) 3x*—4x

3) 4x — 3x*

Igfe y=x-2x> ar L] 2
dx
1) 3x*—4x
3)4){—3){2
The value of 7 p 18
4

7pa€rzH1Er%—
4

1) 7x6x5%x4
3) Tx4

2){b,d}
4){c,d e}

2) x*—2x*
4) 2x°

2) x*—2x*
4) 2x°

2) 4x3x2x1

4) [7 x4



23.

24.

25.

26.

27.

28.

Which of the following is must uncertain average?

1) Mode
3) Harmonic mean

2) Median
4) Arithmetic mean

forder A hlar AT 3ifaridaa HreI & 2

1) sIgcih
3) 8IcHh  HATET

2) HATTE=TehT
4) ATHTSAZ HATET

If mean of ‘x’ is 50 then mean of U=10+5x will be

1) 250
3) 265

2) 260
4)3

Ife ‘x> b1 AT 508 ar U=10+5x b1 HATET &I

1) 250 2) 260
3) 265 4)3

If median is 36 and mean is 32 then mode will be :

1) 12 2)24

3) 36 4) 44

afe AfSTBT 36 B TAT JAHAER HET 32 & dl Igoids &I
1) 12 2)24

3) 36 4) 44

Trend analysts refers to long term tendency to.......

1) Increasing only
3) Increase of decrease

2) Decreasing only
4) None of these

3uaty gorfar & ddwrellar uafar &

1) PacT Tgel bl
3)aIgel 37erdl ©cel bl

2)hdceT T bl
4)SeTdH A BIS <Tar

The most important factor causing seasonal Variations are

1) Growth
3) Whether and Social Customs

AT (Grdgferss) fAazoll & IcUssT B Tl ATA HASAYUT BREB &

1) STer=iz=aT gheg

2) Change in fashion
4) Technological Improvement

2) BT H ufRader

3) HAAA 3T AHATOIB IAfad ATt 4) ddbseiiast JFem

How many permutations can be made out of letters of the work TRIANGLE.

1) 40,320
3) 5,04

2) 14,400
4) None of these



29.

30.

31.

32.

33.

34.

35.

36.

37.

TRIANGLE 2Tag & 318737 A fhda hAIT T ST JAbd & ?

1) 40,320 2) 14,400

3) 5,04 4)STH A PhIs <Tel
The arithmetic mean of 5, 10, and 15 is

15 2) 10

3) 15 4) none of these

5,10, 15 BT JAHATAT HTeT & :

D5 2) 10

3) 15 4)STH A PIs Tl

For the Calculation of Arithmetic means the class intervals should be
1) Exclusive 2) Unequal

3) Equal 4) All are possible

TAHATAL HATET Pl oT0TellT b TOIU dolied? alal dlau

1) 3rgasit 2) 3TAHATST

3) JAHATT 4) Faft Fo1a

Rea <amer 319 Fill in the blanks :-

For the average salary of a teacher, the suitable meanis ................

Uk 3HeATUB & A ddel B AT ... HATRT IUGTT & |

BT ARAIAT H ATAIEIh Bl formiud hIA dicedl HATel

>

(If) =1t A:{2 4 6} , B:[5 6879} thendl A+B=

3 5 7 7
Which term of G.P. 1, /3,3 .......... Will be 81
GP.1, 3.3 .......... HT HIeT AT € 81 BIOM 2
Sum of the series 2+7+12+ ........ +2971S v,
Aoft 247+12+ ........ +297 BT ST ......... BT |
The value of 12‘
22

7 12

BT AT &
9 22‘




38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

............... give forecast for the future

.............. sy @1 yatgaAter warer @war &1 ( interpolation/ Extrapolation)
(3TTedZa10Te / ST@IoToTe)

Newton’s advancing difference method is also called ......... difference method.
= v I e ) 1 G s a1 1o =) S Sfar off war Sar 2
The arithmetic mean of 6 and 101is ..............
6 daT 10 & qg JAAAT AT &
aifer org 3@ wesr Very Short Answer Type questions :- 2x10=20
Find the 6™ term of the series 10, 8,6,4 ...............
guft 10, 8, 6, 4 W 6df UG HId B |
Find the 10™ term of the series 1,2,4,8 ........
goft 1,2,4,8 BT 10df UG A B |
It 7 py= 4 then Find the value of r.
ot Tp,=4 B Y rapl Al Iar3i |

In how many ways 12 things can be distributed among 4 person Equally.

12 Gg3 B 4 Al A RER-IRAR [hdel UBR A el ST Al
37

If=fe A=1{1,2,3,4}, B={1,3,5,7}, C={3,4,5,6 } thendar Find ANBNC sTa
Gerll

What do you Understand by analysis of time series.

BTeT Aot fJeAwor A 3T =T AFASA & ?

Calculate median of the following data

foreaferRaa 3ticeel B aATfeThr forbrat |

94,33,86,68,32,80,48,70

The average age of 5 Children is 8 years. If the age of the father is included, the average
increased by 7 years. Find the age of the Father.

5 I P AT Y 8 d¥ & Ae fUar It IF oA HR ot ST
ar sag 7 auf J 3¢ war g1 fUar @& 33 Iaq |

The following are the mark secured by 20 students in statistics. Find the mode.

20 BEI & FRI AMRID H g 3ick Teaiaaa &1 Rses ada
FHifeTe

15,10,25,30,32,16,22,24,15,17,20,25,27,30,38,25,

28,30,25, 24



50.

51.

52.

53.

54.

55.

56.

57.

38.

Find out geometric mean of 3, 8 and 9

3, 8 3T 9 HB IYUNedT AT IATST |

&g 3T uee Short Answer Type questions :- 4x5=20

Differentiate with respect to X, the following function

folead oA x b HATUET 3Tdhcddd PBITSIU |
15%° = 9x° + 7x + 29

Evaluate the following determinants .

4
7

w o -

2
3
4 16

Find the sum of all the natural numbers between 150 & 500 which is divisible by?

150 3T 500 & g Jaft urpfaes A= w1 o1 forwbrer &t o A
ot & &h

Find the sum of 1+2+4+48+ ...... to 12 terms.

1424448+ ...... arl2ue w1 ART ST B3 |

Calculate the median from the following data

Tt 3tfpsl A HAIfSTBT ST B2

Mid 50 150 250 350 450 550

value

Frequency 4 6 10 10 7 5
&t 3T uest Long Answer Type questions :- 5x4=20

In a group of 900 people, there are 700 who can speak Hindi & 400 who can speak
English. How many can speak Hindi only? How many can speak English only? How

many can speak Hindi & English both.
900 ool &F JAHg A 700 &= 9T dIeT ABA & dam 400 3idei

HYT A JAbhd &1 fhda Paar facl dlct Abd & ? fbda Paar 3ideir
AT ABd & ? fobaa Sl HuT fast 3T 3idsil dic JAhd & ?

By Binomial expansion method interpolate the missing figure.

faue fasae Afd A 3sa 3ick siid &bs |

as 2004 2005 2006 | 2008 | 2009 550
Year

oI o= A 50 45 ? 38 35 30
Profit Lakh

afe If p:E) 23} 3T (and) Q:F_3 32} (Find)

P +5Q+8I BT HTST ferepre |



59. Find the mean and median of the following series .

feraattaiRaa Soft b1 ATer Fem AfeThr STa 6= -

HGIGRT I =T

Wages (in rupees) 0-10 10-20 20-30 30-40 40-50 50-60
oIl (Sua H)
No. of workers 6 10 10 16 12 8




MODEL QUESTIONS - 2021
CLASS - XII
BUSINESS STUDIES
(cTaaTii® 3eaH)
Time : 3 Hours SET - 11 Full Marks - 100

El'&ﬁ?b_vtﬁ'ﬂ W31 (Multiple choice type questions)

Q. W& IR A (Choose the correct answer)
1x30 =30

L. e w1 &1 &Rl ©

Planning is the function of management is :

(a) fgdI (Secondary) (b) WRIA® (Primary)

(c) 319D (Unnecessary) (d) Blg Tel (None of these)
2. e el @

Management is an art of :

(a) @I BTH TR Pl (Doing work himself)

(b) TR | T o B (Taking work from them)

(c)a 3R b TMl @ (Both a and B) (d) s T8 (None of these)
3. T T AR T

The essence of Management is :

(a) RIS (Planing) (b) |G (Organisation)

(c) eI (Staffing) (d) FH9Y (Co-ordinate)
4. JEE T IRA gal -

Scientific management was introduced in :

(a) 1913 (b) 1832

(c) 1903 (d) 1920
5. TSN )T BT I HeelT §

Capital structure affects :

(a) YTIET il m (Nature of business)

(b) AT BT 3MHR (Size of business)

(c) 3MY (Income) (d) 371'3[ q T (All of these)

6. faqur # afferd g &
Marketing Includes :
(a) %I (Purchase) (b) fAHT (Sale)
(¢) ¥USRY (Warehousing) (d) SUF T4 (All of these)



10.

11.

12.

13.

14.

foxfrg wawer foofa ofar 2

Financial manager takes decision of :

(a) foxI (Financial) (b) AT (Investment)

(c) YT (Dividend) (d) SUF T4 (All of these)
HHARY TeTT B

Employees training is :

(a) 3FII¥IDH (Un necessary) (b) JATAAD (Necessary)

(c) 1A (Compulsory) (d) AR (Luxury)

e & WR BN 8 :

How many levels of management are there :

(a) 2 (b) 3 ©)5 (d) 7

T U U 8| T8 DB &
‘Management is a profession’ This statement is of :

(a) SISl 3RO 29 (George R. Terry)

(b) IMR®T Uawe Q?:ﬂﬁ*lw (American Management Association)

(c) TR BT (Henry Feyol) (d) AR To TWA (Lawrence A. Appley)
“AE S BT U dEr I §

Father of “Scientific management” is called :

(a) UecH R (Elton Mayo) (b) Tho Sdcg TR (F.W. Taylor)
() TR BAId (Henry Feyol) (d) T | BIg TRl (None of these)
ColR gIRT dellfieh Y&+l @ JfwciiTel feby T AT o -

The experiments done by Taylor under scientific management were :

(a) I 3TETTT (Motion study) (b) UBM LTI (Fatigue study)

(c) FHY BT 3TTT (Time study)  (d) I (All)

yawe & diag Fagldl $ I feba -

Fourteen Principles of management is given by :

(a) 8 BT (Henry Feyol) (b) Tho Tdeq ek (F.W. Taylor)
(c) Ulex $PR (Peter Drucker) (d) ToUdo ARG (A.H. Maslow)
A1 fAshell ATl 49T @ :

Wholesaler sells goods to :

(a) SUHRHT B (Consumer) (b) YaxT fasmarent @ (Retailers)
(c) 31@% W Bl (Authorised dealers) (d) ST‘P}[ 9 ﬁ—{%& EH| (None of these)



15.

16.

17.

18.

19.

20.

21.

22.

I W @9 fbar a7 U= 2

Money spent on staffing is :

(a) 3TTTID (Necessary) (b) T (Wastage)

(c) 99T (Investment) (d) 378 ¥ BIS 78l (None of these)
et & 9 i e W R

Which of the following is not current Assets :

(a) BICAIT (Stock) (b) TER (Debtors)

(c) TRG Y (Preliminary expenses) (d) 371'3[ Bl EbT%‘ T8l (None of these)
frgfthenor forer & -
Staffing is the responsibilities of :

(a) 9= TR T (Top level management)
(b) &Y TRIT 9 (Middle level management)
(c) T YR ve (Low level management)

(d) 371'3[ q EbT%‘ EH| (None of these)
G G FEw | afRferd B

Human resource management includes :

(a) Ci| (Recruitment) (b) IIT (Selection)

(c) yfRreTor (Training) (d) 371'3[ q T (All of these)
e @ Je & R R e el §

Direction is required at the level of management :

(a) 3% (Top) (b) EIH (Middle)

(c) 9 (Lower) (d) 379 J T (All of these)
TR H FAR B JH1aY0T TG $T 8T Rl AaWD 3 -

Why is an affective system of communication essential in business :

(a) e @ ferg (To guide) (b) X@I D forw (To information)
(c) o @ forw (To instruction) (d) ST‘P}[ T ol (All of these)
Jenfre gawr # fovermo €

Analysis in Scientific management is :

() 25% (b) 50% () 75% (d) 379 | IS 78! (None of these)

ISIE Je= § IUTCH BNl @

Production in scientific management is :

(a) 31ferdaH (Maximum) (b) gIdH (Minimum)

(¢) AMI (Normal) (d) 378 ¥ BIg 78l (None of these)



23.

24,

25.

26.

27.

28.

BN BUI U o -

Henry Fayol was a:

(a) AN CEIIRED (Social scientist) (b) T ZollRR (Mining engineer)

() AITHR (Accountant) (d) ST sTrﬁﬁPT\’ (Production engineer)
e ¥ S SAraaTie waiaRer o R T8 ©

Which of the following is not a characteristics of business environment :

(a) 3rff¥aaar (Uncertainty) (b) HHATRY (Employees)

(c) oI ITHDAT (Relativity) (d) Sfferarian (Complexity)

BB ¥ Ao I B

Centralisation refers to :

(a) Yo o H BRI 1 ﬁ?@ﬁ XYl (Retention of decision making authority)
(b) fyoia o # IReRT BT fawRg o (Dispersal of decision making authority)
(c) TN &7 o &g g (Creating divisions a profit centre)

(d) T sl FAAT IARIWN BT WierT (Opening new centres or branches)

R @ favaR & ared €

Span of management refers to :

(a) TEIHT B TR (Numbers of management)

(b) U Yaed &I FRYfh & 999 @1 A9 e fory I@a! MR & T8 (Length

of term for which a manager is appointed)

(c) T SRBR & I=d R Bl ARFRN @I TN (Number of

subordinates under a superior)

(d) N ve & TS B T (Numbers of members in top management)
TG & iad # Wl B @

Recruitment in the life of organisation is :

(a) Uh dR (Once) (b) 3 IR (Twice)

(c) TP (Occasionally) (d) R (Continuous)

faer &1 faferlr 2 -

Method of development are :

(a) Ux TN (Position rotation methods)

(b) BT UIGThH (Short term syllabus)
(c) BRI @1 fabT (Development on job)
(d) 379 F T (All of these)



29.

30.

31.

32.

33.

34.

35S.

36.

37.

I IF ATIF & T
Maximum wide scope is of :
(a) 9TU€ (Brand) (b) W& (Labelling)
(c) BT (Packaging) (d) UUR T (Trade mark)
quTf BU Wl BT I g5 o
Legally SEBI was established in :
(a) 1988 (b) 1990 (c) 1992 (d) 1994
Reh oI W
Fill in the blanks
WRT ¥ Y Ugel el fauoll @Y IO eI
The first stock exchange in India was established in ....................

1857/ 1877/ 1887/ 1987

1x10=10

Consumer dispute settlement agencies are ....................

SEIKE] (District Forum) / IN®NR (Government)

Advertising media is ............ooeiiiiiin
U fasmoE (Press advertising) / €lel CEIER] (Mural advertising) / ST (Both)
re], Tl & FHAT Bl € S IBS # URAMTT BT & o

Current assets are those assets which get converted intocash ................

Udh ¥ O a9 & X (within one & three year) /
Udh T B R (within one year) /
B: HIE B e (within six months
TN AR H |fAferd 2 |

Capital structure includes ................coooeine.e

39T q\Trﬁ (Share capital) / oI-d q o (Deposits from public)

Budgetisa ................ Of management.

fo=ir faaro (Financial statement) / Eap| (Function)



38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

Communication shouldbea .................. traffic.

T® AT (one way) / TGAFTT (two way) / GFI (both)

The primary causes of America’s prosperity is ............

T (recourses) / et Tee] (efficient management)
3 oy I 4

Very short answer type question

qawT o1 R 3 © 7

What is meant by management ?

WY S PIg & Ted gqrd |

State any two elements of co-ordination.
T 3BT TG DI | Bl & ?

Which is the best organisation ?

TIEE B 8 7

Who are supervisors ?

e R @ g ?

What is management control ?

IR TR 5 Fed § 2

What is share market ?

[T Bl aRHIYT BT |

Define planning.

RO 9 379 T G & 7

What do you mean by motivation ?

T At el o @ b e e de R |
Why it is said that planning is looking back.
HrIe ol ®7 B 7 ?

What is working capital ?

2x10 =20 Marks



S1.

52,

53.

54.

SS.

56.

57.

58.

59.

oY S T

Short answer type question 4 x 5 =20 Marks

“UF WIS H G B fedge N mawgddl el il | fdEr & |
“Supervision is not at all required in an organisation”. Discuss.
yelleror & Wewd d (Al @1 fadeer & |

Discuss the importance & method of training.

faqor T 1 8 ? §9e @ ok Bl -dIF 4§ ?

What is marketing mix ? What are its chief elements. Discuss.
SUAIHl & [l Ui ARHRI B TN |

Explain any five rights of consumer.

e & Righal &1 avi &Y |

Explain the principles of direction.

fod S uee

Long answer type question
5 x 4 = 20 Marks

e Td frramr # W awEm |
Explain relationship between planning & controlling.
foRoT & AW W oMY w7 W € ? awgell U Wani & oy § g9 @ enf
g ? ey |
What do you mean by channel of distribution ? What are their functions in
distribution of product ? Explain.
Pridier ol B R B T Ted BB A § 2 e
What are the factors affecting working capital ? Explain.

e @ gRyTeT < | |1 A v 9eRie Ufhar B P W Y |

Define planning ? Is planning a mental process. Clarify.



Intermediate Exam-2021

MODEL QUESTION PAPER
SET -11
Entrepreneurship (Z=1f31ar)
(Class XIIth) (I.Com)
Time Allowed : 3 Hours Full Marks 70
agidesedi= uesr Multiple choice type questions :- 1x20=20

1. foree & A HPra—AT 31gAT BT UhlT & ?

Which of the following is a kind of opportunities ?
(A) grd 3TgAZT First opportunity (B) farfefa asma=z Created opportunity

(C) 3tfead 31aAT Last opportunity (D) Teldi A abIs =&l None of these
2. gl Acdicbd & fou freaiaRaa & 3 e A ard smaegs 2 2

Which of the following things are necessary for market assessment.

(A) gfd Supply (B) @for Demand
(C) ufcreuert @t Ui Nature of (D) 3Iudaa =it All of the above
competition.

3. frea & I 53 3aue a1 AAT BT gATT B AFAT ATl IJET STHsl oTdl & |
Which of the following is not to be considered while selecting a product or service?
(A)aTeTR BT fererizor Marketing Assessment
(B) =ITaaTi¥ehdaT Practicability
(C) ufer=nfdrar  Competition (D) 3aute fer=ister  Product planning

4. FqMUAT H 37TATST - Easy in formation is -

(A) wamasr =murR Sole trading (B) JTHEr™ Wwa Partnership firm
(C) Jdgad Yot wauell  Joint (D) Befdf A brs =181 None of these

stock company

5. TU®B ABA I A maeTdsd & ferear gor g anfau |
A successful entrepreneur must possess the quality of the following.

(A) arIgaa BT Leadership (B) fer=i=or @1 Control

(C) <auader T Innovation (D) =ardi ¥ At All of these
6. TTATT ferdioiar &1 UH HAed B-—

The main importance of business planning is-
(A) ferderepatail @ 3mTpitta @3t A in attracting investors
(B) ieemm—ferderer & in providing guidelines
(C) 3aretar oIfeRT "eTel @l A in providing lever age
(D) 3ugerd A3t All of the above
7. URNerer foee J AdfSd &0 &idi— Project is not concerned with-

(A) SFauada Innovation (B) <hcuar erfdka vision
(C) <= Risk (D) IJotetar Creativity




8.

10.

11.

12.

13.

14.

15.

foreet H J Pl JAATTSAT BT UBRE T Jd & ?
Which of the following is a kind of resources and their sources ?

(A) ofifres JAATerer Physical resources (B) aapeiifds FiATeret  Technical
resources
(C) HATeTd™ FATered Human resources (D) 3uzfara @it All of the above

s mrefefter gl @1 a7ef 3— Net working capital means.

(A) TTef, AFTTAT — AT, effRica Current Assets-current liabilities

(B) ITey, FeuaTaAT + drel, ar=rea Current Assets + current liabilities

(C)aTer, AHTaAT + dref, aTiiaa Cureent Assets + Current liabilities
(D)3udaa & A PdIs &r None of the above

Uael T ATHATSIG Iael=Tad &— The social responsibility of management is

(A) =3t &b ufa towards all

(B) BaeT HHAATAT & Ul towards employees only
(C)AZBIR B "fear towards the government

(D)STH A bis &l None of these

fergorer  3raen=om &1 Marketing concept is -

(A) IdTETedSIt production- oriented  (B) fargpeieagsi sales- oriented
(C) armemiedgsit customer-oriented (D) = oiet All the three

aiferaATer 3iell Uz ersrier €T ardr B-
The rate of dividend on preference shares is
(A) ez Fixed (B) =eT variable

(C) 31€ T Semi variable (D) setdt A pIs <&t None of these
AT Nt &t - Price policy is -

(A) 3usiieaT & uel A In favour of consumer

(B) JhIT &b uel H In favour of Government

(C) 3aute-feraAtar @ uer H In favour of producer manufacturer.

(D)=3ft & uer A In fovour of all
%H%ﬁaﬁa—wanwﬁwsmaﬂwaﬁumﬁﬁm
Hgch ?

Which of the following factors affecting identification of business opportunities ?
(A) 3TTed3ep HAToT @I AT Volume of internal demand

(B) faifHda 3ra=1z created opportunities
(C)uxtazor A frerATer 31aAT  Existing opportunities in the environment
(D)3udaa #H A dIs &r None of the above

TG Fcdichel bl Dhled—AT dad THATAT <T&l db2dl ?

Which element does not affect market Assessment?

(A) &HToT Demand (B) JgHA  dGr@@=or  Micro
environment

(C) fRrgorer He=rzer Market intermediaries (D) ufer=rsft competitor




16.

17.

18.

109.

20.

21.

22.

23.

24.

25.

26.

27.

fordet A J Pl T ITA BT AH3INA B 37aAT T8l & |

Which of the following is not a stage of starting of a new venture ?
(A) URfFeTas—gd 37az=m Pre-start up stage

(B) URfFeTes 3Taz=Im  Start-up stage
(C) 3cute dreie 31g==T Product market stage
(D)daTe @5F gieg 31azam Later growth stage

3UHGH BT JATd B AAT edTel 2o Ao faeg B-

The point which considered while selecting an enterprise is

(A) 3Jare Product (B) fTauorer Marketing
(C) Ysfl @1 Iueteerdr (D) 3Iugad H A BdIg A&r
Availability of capital None of these

foreet A J P AN TaIm B AR 3 FE Fa=m 8t 2

Which of the following is not a problem of expansion of business ?
(A) SIRTA uder Risk management

(B) a7 Teraiiotel Wa &1 fer=i=ror Profit planning and expense control
(C)9ger =iifer Price policy (D) HATor &F udgfer Trend of Demand
TqATT fereiiolel & HIT 3raad &—

The main components of business planning are

(A) ITATT BT dofel business description

(B) 3Tferem=it ATIMLT executive summary

(C)Awd Barat both (A) and (B)

(D) ATd Baret =&l neither (A) nor (B)

Us ufR=Iistelr 8- A project is -

(A) arfrfaterit @1 Jeg  Cluster of activities (B) TaheT oTfaifafer single activity
(C) 3T onfardieri &I Adg Group of innumerable activities

(D) gaTH A BIg <&l None of these

R&T Zemer a1 Fill in the blanks :- 1x7=07
BT off 3usd HF TR gt denm wriefila dsit & fow ...

3Ta9eTh 2 |
.............. 1s required for fixed capital and working capital of any enterprises.

wrfefter dofl ot udfer ... Ercht 21
The nature of working capital is ...................
arRdafaes [T den dAda-fdwse [aha &1 3daR ............. BEATAT B |

The difference between actual sale and break even sale called .................

MRA H UTET .. 21 Management in Indiais ..................
G 110G S 21 Advertisementis .............
=it stferara 3ient uT omeriert ... e srar 2

Dividend on cumulative preference share is given .....................

SNBIT ST B e Telephone Expense is ....................



28.

209.

30.

31.

32.

33.

34.

3 5.

36.

37.

38.

309.

40.

41.

sifer g 3T wear  Very Short Answer Type questions :- 2x7=14
SMTATRG FTTAT A T JAAIA & ?

What is meant by Business opportunities?

IdTe Bl oerd 3T BlAd A 3T =T TASA & ?
What do you understand by cost and price of the product ?

3dlEs AT AAT BN FATd HId JAAT el Aot AoT Thedl &l Jq1al bl
o=t ?
State any two factors to be considered while selecting a product or service ?

ucrel fer=izor b =mue F HAdeTd @ ?

In which business direct control is possible?

s e @=m @lar & 2 What is plant layout ?
Uh 35 IIATT feriieial &5 a=Im ot 2 2

What are the conditions of a good business planning?

Rt ufadess 537 wad & 2 What do you mean by project Report ?

g 3T<Aa uea  Short Answer Type questions :- 3x5=15

3UhH P U JATIST R=IT ITAdeuh & ?
Why resources are needed for an enterprise ?

HriefieT Yoil I UaATdad wediel fheadl diel dcdl bl T |
Mention any three factors affecting the working capital requirement.

JFA-Tdese faeg =T & ? What is Break-even point.

Udeg Uh ATHfed fham &1 =i 2 ‘Management is a group activity’. Why?
frsmuer & el wref faaRaw | Write three functions of advertisement.

" 3T uest Long Answer Type questions :- Tx2=14
fauorer uder @F ufRemur @ derm gAd 3T 389l i forwt |

Define marketing management and explain its main objectives.
31214a1/0R
faa & fafdtesr Jat b1 aofer @21 Discuss the various sources of finance.

TATRIE IAAIA Pt Ugdrel hl AT BIAdial gcds  dlel—dblel A
21 fadger &3
What are the factors affecting identification of business opportunities?

312rqr/OR

BT aeg a1 AAT BT gaAtd Hd AFAT ATEAT Bl bl aral &1 emer
IJTST AMau ?

What factors should an entrepreneur consider while selecting a product.?




